Opérations avec deux fractions mixtes (E)

Nom:

10.

Date:

Calculez chaque résultat.

5%—1% =
S+3% =
5§+2% =
55-35 =
S2415 =
52415 =
12 x50 =
5%—2% =
5%+4% =
53+ 25 =

Note:
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Opérations avec deux fractions mixtes (E) Réponses

Nom:

10.

Date:
Calculez chaque résultat.
11 3 8 4
Bl =373 3 =1 =4
1 3 26 18 44
st =5ts = 5 =83
2., _ 27,9 _ 27 4 _ 108 12
5°"74 54 579 45 5
2 52 29 23 5
7% T 979 9 T %
2 3 37 10 47 5
— 1_ = — _— = _— = -
57+ 7 7+7 7 67
2 2 17 5 22 1
Btl3 =33 = 3 =73
3 7 13 47 611 51
1073 10X~ 3% ~ s
1 23 5 13 1
3T T T2 7 TG
Gl B9 _ B 24 2
42 4 2 479 36
1 11 11 47 11 18 198 99
5-+2— = —+—=—=—X—=— =
2 18 2 18 2 47 94

18

4_7—

Note:
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